Calculus |ll, Test 1, February 13, 2008 Name: T&Mes Cgcw

No graphing calculators or electronic communication of any kind. If you need extra paper please ask.
Credit will be awarded for correct content and clarity of presentation. This test has 100 points. Try to at
least attempt each part.

1) [Spts] If ¥ =< 4,3 > then find the vector in the same direction as ¥ but with length 3.
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2) [15pts] Find the equation of a plane which contains the point (1,2, 3) and the vectors A =iand

B= i+ 3k. ( note these vectors lie entirely in the plane, they are not necessarily based at the
orlgln)
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3) [10pts] Find the equation of the line which passes through the points (1,2,3) and (4,4,4).
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4) [10pts] What is the angle between the vectors A=< 4.3 >and B =< 12,5 > ? Please leave your
answer in terms of an inverse trigonometric function. Also, what is the projection of A onto B?

Al= ~\6+a = (35 =5
\B)| = NW+as = yTaa =12

= A||§lces © = S(13) tes O
= 4, D<L13,5> = Y€ +15 = 63

= 6Scwsf = 63 = 6956=~'§'§ ﬁrg;m{‘%?(\‘

s . i AN A = R 3
oy iB] = AGBE"—TK'_B)S:_@?_.@ '..-__63 = : ,
proys (A) (Re%) igz o = <1a,5> = Pfa}g(ﬁ)/
5) [10pts] Give parametric equations for a curve which is formed by;he intersection of z° + y°> = 2
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6) [20pts] Suppose that 7(t) =< ¢, 12, cos(t) > represents the velocity of the Dwight. If the initial

position of Dwight is the origin then find the position of Dwight at time t. Also find the acceleration of
Dwight at time t.
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7) [10pts] Suppose f(z,y) = €* + z¥ calculate f, and f,.

%-’5 = %[e +><“9] :}@x+ yx & ! _ﬁj

%% = %%@yﬂbx @m X)){‘é = e(:y j

~/
O




& (8) i eastest W gou notic. x2y? = vies’e +rim%e = r
7 SRNRLIN, ARG S e % _ 4] |
/\*b\uué Ir - T 17 bed answer vag = = 1

8) [14pts] Suppose f(z,y) = /22 + y? and z = rcos(8), y :ﬁ = rsin(#). Calculate % and —(%%.
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9) [6pts] Let 7: R — R3 be a space curve with‘(—il';—j' # 0. If we define T'(t) = 1 ‘%then show that W
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